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4321

M.A. (Previous) Examination, 2016
ECONOMICS
Paper — 1
(Micro-Economics Analysis)

Time : Three Hours
Maximum Marks : 100

PART-A [Marks : 20]
(TUE-37)
Answer all questions (50 words each).
All questions carry equal marks.

Tt 999 ffard ¥ TS YT H IS S0 v 9
afarss 7 B8N TR 9w F oiF Oum B

PART-B [Marks : 50]
(@E-9)
Answer five questions (250 words each). Select one guestion
from each unit. All questions carry equal marks.

TIF TFE ¥ UH-USH W94 G99 g0, A Ui 999 Hifa)
TEH G FH I 250 TR W AP q 2
aft v A ® 3w wEE F
PART-C [Marks : 30]
(TT8-9)
Answer any fwo questions (300 words each).
All questions carry equal marks.
FE F WYT FIGU TIF W H ITW 300 ORI G
A T 71 T g F HF wEA
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PART-A
(@Us-3H)
1. Answer all questions.
i wvAl % A AfSu
UNIT-1

(FHTE-I)
(1) What do you mean by Income effect?
AT WWE W S9N §EEd §?
(iiy  What is Dynamic equilibrium ?
TS W R
UNIT-II
(FFE-1D)
(ii) Give mwo examples of External economies.
T foqsafan & & STEww dfSu
(iv) What do you mean by Collusive oligopoly ?
Tfsq SR ¥ W ¥ IWsd 8?2
UNIT-III
(gehTe-11D)
(v) What is Limit price ?
dm-Fma #8872
(vi) What do you mean by Discretionary investment ?

faganfm 9w | &9 = 9uEa ®7
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UNIT-1V
(FF-1V)
(vil))  What is Value judgement ?
g fofa = @2
(viii) What do you mean by Partial equilibrium?
aiferds WG § Y ¥ GHT o7

UNIT-V

GFFE-V)
(ix) Write two problems of insurance which the

Insurance company faces.

T F Y wEww fafgu e i wmeE
e wE B

(x) What is Asymmeltric information ?

sEEfed gaa = 2?

PART-B
(gue-9)
UNIT-I
(FHTE-1)
2. What is an Economic model ? Discuss the nature of

economic models.
feF gfaey (Hied) =1 22 AfaF dfed =+ wHfa
®I T Fifau
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OR (37e737)
3.  Explain the characteristics of Indifference curve.

s (Feremn) aw F1 favmaess w1 we wifs

UNIT-1I
@EFE-1I)

4. Explain the Law of Variable proportions with the help

of isoquants.
TEEar ¥ shifora)
OR ( 31%AEn)

5.  Give the Bertrand solution of Non-coliusive oligopoly.

How does it differ from the Cournot solution ?
IR-Afaq ToufusR # Fi-8 A & W HIFAT
T2 oFA FHME ¥ fFE oyER = 20

UNIT-III
(FFr-I11)

6. Critically explain the Baumol's Sales maximisation
model.
=[REn HIfAu|
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10.

11.

OR (#gE1)
Explain the ditference between Modern theory of rent and
Ricardo’s theory of rent.
49 3R T FHife

UNIT-IV
FFE-1V)
Explain the Walrasian General equilibrium model.
FWE F HHE GEE e HT S FiSU
OR (#H94an)
Critically analyse the Pigou” Welfare conditions.
9] 1 HSATT I HI ATHATHS  SAREAT HITAU

UNIT-V

(FHE-V)

How does Mean-Variance (E-V) analysis help in portfolio
selection ?
e -FEI0T (E-V) fagermm f&@aw gt w99 9 59w
e B 82

OR (#En)
What is Insurance ? How does an Insurance company avoid
risks so as to earn a profit ?
A ¥ R? uH AW wEAT oy wfiE = g e
YHR SIfEH F TE FwIEr 8
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12.

13.

14.

PART-C
(@ue-|/)

UNIT-I1

(FFE-1)

What i1s Elasticity of Demand ? Explain its types and

degrees.
o w @ 1 7 THE YR & Sfrat F1 o=ren

FHIC|

UNIT-H

EFE-II)

Compare price determination under Perfect competition and
Monopolistic competition.
gut gfgaifa 3 wefusrrers wfeaifta & or=wia wirda
fagiror 1 g FIfSu

UNIT-I11

(FFE-11I)

Explain how an Oligopoly firm maximises its growth rate
in the Marris Model.

oftw #fed # AR UF eWiuEHK HEH FH Tl
gfg = + sfywan = 2 oaE Fifwul
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UNIT-1V

(FFE-1V)

15. Explain the Rawl's theory ot Justice.
Ta & =1 fagm & s=men Sifag

UNIT-V
FFE-V)
16. Explain critically Stigler's theory of Search.
foer #1 @9 % fagma F1 T="s e F®ifaal
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